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№ 頁 行 誤 正（赤字訂正） 

1 49 式(4.64) 𝐴 = 𝜋𝑟𝑎 + 𝑤𝑏 = 𝜋 × 15mm× 2mm

+ 34mm× 4mm

= 324mm2 

𝐴 = 𝜋 (𝑟 +
𝑎

2
) 𝑎 + (𝑤 − 𝑎)𝑏 = 228.5mm2 

2 49 式(4.65) 
∫

𝑑𝑠

𝑡(𝑠)
= 𝜋(𝑟 +

𝑎

2
)
1

𝑎
+ (𝑤 − 𝑎)

1

𝑏
= 33.1

𝐿

0

 ∫
𝑑𝑠

𝑡(𝑠)
= (𝑟 +

𝑎

2
)
1

𝑎
+ (𝑤 − 𝑎)

1

𝑏
= 33.1

𝐿

0

 

＊=の後ろの𝜋を削除 

3 49 式(4.66) 
𝜑𝑙 =

𝑇𝑙

4𝐴2𝐺
∫

𝑑𝑠

𝑡(𝑠)

𝐿

0

=
20N・m× 200mm

4(324mm2)2 × 30GPa

× 33.1 = 0.0105rad 

𝜑𝑙 =
𝑇𝑙

4𝐴2𝐺
∫

𝑑𝑠

𝑡(𝑠)

𝐿

0

=
20N・m× 200mm

4(228.5mm2)2 × 30GPa

× 33.1 = 0.0211rad 

4 49 式(4.66)

の下 

Ans.：𝜑𝑙 = 0.0105rad = 0.602° Ans.：𝜑𝑙 = 0.0211rad = 1.21° 
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